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Part I  
Unit 1-1 – Simplifying Equations

Simplify using order of operations. 

1.  2 · 6 − 11






2.  (16 - 4) ÷ 3

Evaluate if a =3, b=1 and c=5. 

3.    4a − c






4.  c  +  ab


Use integer rules for the following problems.

5.  − 15 + 19






6.  28 − (– 2)


Use integer rules and order of operations for the following problems.

7.   2 (2) (−11)






8. −7  + 5 + (−8)



9. ( −4)2  +  5






10.  −9  +  (−6) (5)


Combine like terms:  
11.  2x2 + 4x3 + x – 3x + 5x2 – 2x3



12.  3a + 4b – 6a + 12 – 4

13.  (3x2 – 2x + 17) + (5x – x2 + x3 – 2)


14.  (3x + 7) – (x – 2)

Expand and simplify: 

15.  3x + 2x(x – 4)





16.  5x2 – 2x(x + 3)

17.  a(a + b – c)





18.  3x(x + 9)

Find the error in the following scenarios.

19. Michael is working to evaluate the problem 

2a2 – 5ab + 3 when a = -2 and b = 3. There is a mistake in his work, circle the error and give correct answer.


Step 1:  2(-2)2 – 5(-2)(3) + 3 


Step 2:  8 – 5*6 + 3


Step 3:  8 – 30 + 3


Step 4:  -19

20.  Find the error in the following work:


3(8 ÷ -2)2 - 4


Step 1:  3(-4)2 – 4

Step 2:  3(-8) – 4

Step 3:  -24 – 4

Step 4:  -28

Translate the following statements into algebraic expressions.

21.  Twice the sum of 7 and a number


22.  Nine more than five times a number
Unit 1-2 – Solving Equations

SOLVE EACH EQUATION

1)  ½ g + 11 = 3





2)  k + 2= 7
3)  - 2x + 7 = 3x -8





4)    x + - 2 = 5

5) r  - 12 =  -8






6)    - 2 + 5x + 13 = 6x 

Complete the missing step in the problem:

7)
3x - 8 + 2x – 3 = 5[image: image1.emf]




8)
a + 2a + 7 = a - 3

[image: image2.emf]

5x - 5 = 5


x = 2







2a = -10









a = -5
Unit 1-3 – Circles

Calculate the area and circumference of the following circles:

[image: image3.emf][image: image4.emf]1.  







2.  

[image: image5.emf][image: image6.emf]

    
Area








Area




    Circumference






Circumference


[image: image7.emf][image: image8.emf]3.  Below is a picture of a circular swimming pool surrounded by a wooden deck.  The deck is 2 feet wide.  The length across the pool is 4.5 feet.  Find the area of the deck.

Find the arc length and sector area of the following circles:

[image: image9.emf][image: image10.emf]4.







5.



Arc Length:







Arc Length:




Sector Area:







Sector area:

[image: image11.emf]6.







7.  

[image: image12.emf]

Arc Length:







Arc Length:




Sector Area:







Sector Area:
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Part II

Unit 1-4 - Polygons 

Find the area and perimeter of the following figures:

[image: image13.emf]1.

Perimeter:




2.


Perimeter:


[image: image14.emf]


   Area:





   

Area:



[image: image15.emf][image: image16.emf]3.

Perimeter:




4.


Perimeter:





Area:







Area:



5.  A rectangle has a length of (2x – 3) and a width of 5.  What is the area of the rectangle?

Unit 2-1 – Special Right Triangles & Pythagorean Theorem

Use Pythagorean Theorem to find the missing sides.

[image: image17.emf][image: image18.emf]1. 







2.

[image: image19.emf][image: image20.emf]3.







4.

Use the 450-450-900 or 300-600-900 rules to find the missing values.

[image: image21.emf][image: image22.emf]5.  







6.

[image: image23.emf][image: image24.emf]7.







8.

[image: image25.emf]9.  It is recommended that for a height of 20 inches, a wheelchair ramp must be 19 feet long. What is the value of x to the nearest tenth?

[image: image26.emf]10.  Sam has a square backyard divided into 2 sections along the 40 foot diagonal.  One of these sections is used as a garden.  What is the approximate area of the garden?

[image: image27.emf]11.  Mr. Landry has a garden shaped like an equilateral triangle.  Each side of his garden is 6 feet long.  He has placed a watering hose from the faucet located at a vertex to the opposite side, as shown below.  What is the closest length to the hose?

Unit 2-2 – Composite Figures 
[image: image28.emf]1.  A farmer wishes to seed this field, but he does not need to seed the areas with buildings.  If it takes 2 sacks for every 1m2, how many sacks of seed does he need?

[image: image29.emf]2.  This rubber ring has an exterior diameter of 12 in.  It is 3 in thick.  What is the area of the rubber ring?

[image: image30.emf]3. Find the perimeter and area of the following figure:
Perimeter:


Area:
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Part III


Unit 2-3 – Similar Figures

Match the definitions with their correct vocabulary term.

1.  The ratio of corresponding sides of similar figures.



A  transformation

2.  A change in the size of a figure but not its shape.




B  proportion

3.  When a shape is changed in some way (enlarged, rotated, translated, etc) 
C  similar

4.  Two figures with the same shape, but not necessarily the same size.

D  similarity ratio

5.  An equation that states that two ratios are equal.




E  scale factor

6.  A number which scales or multiplies a quantity




F  transformation

Each pair of shapes is similar.  Find the missing side.

[image: image31.emf][image: image32.emf][image: image33.emf]4

2

1

3

3

2

2

1

1

[image: image34.emf]7.





8.


9.





10.

11.  A building is 36 feet tall and casts a shadow of 126 feet.  A nearby flagpole casts a shadow of 14 feet.  Find the height of the flagpole.

12.  John is standing next to a tree whose shadow is 30 feet long.  John is 5 feet tall and his shadow is 15 feet long.  What is the height of the tree?

13.  The scale factor for a model airplane is 4 in = 13.1 yd.  The model is 17.2 in.  What is the length of the actual airplane?

Unit 2-4 – Solids: Views & Nets 

1. The diagram below shows the top view of a structure built with identical cubes, as well as the number of cubes in each column of the structure.   



Which 3-dimensional view best represents the same structure?










  A.

     B.


C.

D.

2.  How many faces, edges, and vertices does a square pyramid have?

A 
4 faces, 6 edges, and 4 vertices



B 
5 faces, 6 edges, and 6 vertices

C
5 faces, 8 edges, and 5 vertices



D 
6 faces, 12 edges, and 8 vertices

3.  The drawing shows the top view of a structure built with cubes as well as the 

number of cubes in each column of the structure. 

Which 3-dimensional view represents the same structure?

A.



B.


C.


D.

Unit 2-5 – Solids:  Surface Area & Volume

Find the lateral surface area, total surface area, volume, perimeter of the base, area of the base, and height of the following figures.

1.






2.  

P= 
        B= 
  h= 



P = 
        B = 
     h = 


LSA= 
        TSA= 
      V= 


LSA = 
          TSA = 
        V = 



3.  






4.

P= 
        B= 
  h= 



P= 
        B= 
  h= 



LSA= 
        TSA= 
      V= 


LSA= 
        TSA= 
      V= 


5.  Find the volume of the composite figure. (Slant height of pyramid is 16.76)
6.  The NBA uses basketballs with a 9.39 in diameter. How much material is needed to make the ball? 

5 m.





4 in.





5 ft





30o





3 cm





20o





250o





72





72





24





84





12 m





10 m





8 m





5 in





3 in





10 in





9.39 ft








